Co # B #-3
EHLHE:(F4,9,12,13, 18 F 24, Hu R 34)

1.(3 ) #4£.:Uk= E[(X-wk] » % U2=4 > U3=16 - U4=32 - B| kurtosis % i ?
(1) 4 (2) 0.5 (3) 2 4) 1

)

2.(4 ) XioXe2 Xa'# PRIE Gamma & 2> H $8c(a, 0)4 %5 (1,0.2)~(2,0.2) ~(3,0.2)
# S=Xi+Xo4+Xs > £ H moment generation function MS(3)=?

(1) 0.13 (2) 1.20 (3) 3.6 (4) 244.14

3.(C1 ) XM Pareto # fe » H 2#(0, a)? (150,2.8) » FH TVaRes
(1) 530.19 (2) 460.74 (3) 1191.64 (4) 678.61

|
-~

4. (1 )%:ﬁbﬁxﬁ:ﬁbmzPm$m9m¥£7ﬁkﬁ%£&ﬁ’W%ﬁiﬁ&ﬁ
<7

(1) =xF~pe (2) f=-s%~pe (3) Poisson #fe (4) ®iz ik

5.( 1) H-b% > tHE-cnKkBIRPP » BERVIIEL I BF4o™ 24
FLES RS S Bx

0 70%
1 20%
2 10%
Birr i 142 %’%i BpE&FE 5 50 mﬁ“" .2 T0% > 2p: &85 100 i 5 3
30% > BAcy 2 KERRFL > F - IEREFFNA I P L h A R ERER

5005 50%  ERE&FE S 100 B 5 50% 0 Rt R ‘GihM iRF B R &7
(1) 2,541 (2) 3,270 (3) 1,289 (4) 2,486



6.C 1 ) ¥zZnuTFR:
- H - iRrg A IR R PR T 355 0. 25 hPoisson A e e
- H - mppchg fEIRAEL0 ,500] g A o
- BRAKEERFGRALDHE o
Rt LG A B AR R B BT

(1) 20,833 (2) 41,667 (3) 1,041,667 (4) 2,083,333

.02 ) $TUTFER
- I pE=x #PRIE _Poisson 4 fie °
- RRIGRF MU AR

BRETE il
10 50%
20 30%
40 20%
- EREIEAERFRAL B o
PEBIBREEIRT 9% iB K € TR @ eh 20%2 P FIERE R Bl iT?

(1) 521 (2) 131 (3) 92 (4) 146

8.(2 )*aBAdePEIF M2 LR A TIREh=lc B3 AehIBRR 0o 5 4/6 =R
] ZBF52/68F LB ®F 5 3/6 2] X8 Fx s 3/6ox %5
BE#HEBZ B k-2 BREgR > HgRAZ A F 4 BF 4o ¢

EREH
Lk 20 60
B: 0.7 0.3
B 0.4 0.6

B e gAL 2 A2EBE- BEI > ENEINRER] XILEBE- B
Pl R R 0 RIS R BR T o R (VM) 5 #?

(1) 55.375 (2) 16.797 (3) 5.063 (4) 20.172



9.C 1) Bz T5Fn:
- X &3 Tio%kui{frRA&k: vri B RE
—uRF T2 R AL 4P R
- v EF TioH8 EfrRBEE 32 B RE
X&7 6 BB ER > £ Buhlmann ¥ & & Z=7

(1) 0.75 (2) 0.60 (3) 0.50 (4) 0.67

10.C 4) FHTFR:
FREELD 1,000 B2 ARl & feeih R oTES o
& B R GAIEPRIEIEE F B2 & A Poisson 4 e o
BTARBHEH A BKSZ LT 2&(a, 6) Gamma ~ = > a=500 6=2500 -
BTRBYRY » REIINT RifA K%
Bk b'aBi

0 906
1 89
2 4

3 1

FRAF AT IoN = 7

(1) 0.117 (2) 0.143 (3) 0.167 (4) 0.171

11.( 4) #%- zero—modified Poisson #-3,
p2= 27.3% and ps= 12.7%.
8 Db

(1) 12% (2) 13% (3) 14% (4 15%

12.C 3 ) N FRi& _Poisson A e, ¥ & A = 2.5 3% E[(N - 3)+].
(1) 0.2 (2)0.3 (3 0.4 (4 0.5

13.C 2 ) g4 R _Normal ~pe #¥ & p= 1000 and H## £ o = 25.
335 VaR80%.
(1) 1010 (2) 1020 (3) 1030 (4) 1040



14.( 4) F&x) = x/10)% 0 <x < 10.
35 TVaRo0. 90.
(1) <% 9,70 /> 9.75
(2) <& 9,75 -}* 9,80
(3) <& 9,80 /> 9.85
(4) <%+ 9,85

15. (3 ) B3& S & compound Poisson4 fie 3f 4 i Hcehdp ¥ & mean = 4.
w4 &£47 100, 200, and 500 HEEEWWFE 0.4, 0.5, 2
0.1, #+¥ S cr ik ?
(1) -* 150, 000
(2) %3 150,000 , )3 175,000
(3) %3 175,000 , -+ 200,000
(4) <%+ 200,000 , -]+ 225,000

16.C 3 ) M4 5 & Poisson 4 fz, If % *§& & Pareto # pe( o= 4).
22V ok, EAFRIFL2Z K=10% P=99% H*THREDR 27 G in
exposures €50, 000
Fi-E* - exposure TEH AGiEHE P
(1) 2% (2) 3% (3) 4% (4) 5%

17.C 4 ) #iEg A & Ep2 % 2 &R _Binomial A fem = 2.
80% #i%x'& 4+ q=0.10, 20%#%'& X q = 0. 20,
MEEA1TERT IRE, 3 ERFERL q=0.10 B F
(1) 61% (2) 63% (3) 67% (4) 69%

18.C 2 ) & X ,Y#®> k4 # (independent and identically distributed): % ¥,
*3m340% 4 [0, 100]. 4 Z = &) (Minimum) [X, Y].
W 10 B Z Em/5% =5 20 kp [0, 1]2 g
0.574, 0.079, 0.803, 0.382, 0.507, 0.848, 0.090, 0.631, 0.246, 0.724,
0.968, 0.372, 0.653, 0.736, 0.329, 0.757, 0.915, 0.177, 0.770, 0.403
(% ¥1e2Q@B)L HHEF1IB Z, %2&2QB)L 521 Z, - ) 3510 B
Ll e 35182
(1)30 (2) 32 (3) 34 (4) 36



19.C 1 ) siw=BEpz2EX:1 3 8
B3 X ¢ CEERTZ BRBESY FE
3+ ¥ bootstrap (52 )#mean-squared error(35= %% )&
(1)7.5 (2) 8 (3) 8.5 (4) 9.0

20,C 1 ) & &
(i) FA,*: 600 700 900
(ii) = AL P38 500
(iii) TB3K3IF 4 PR/E_exponential 4 F& mean 0.
3+ ¥ 0. 0 MLE (maximum likelihood estimate)

(1) 233 (2) 400 (3) 500 (4) 733

21.C 4 ) 7 TAEBBRRE:
0.1 0.2 0.5 1.0 1.3
Bl AR kP85 %R Sdkfunction: f(x) = 2/ (1+x)%, x > 0.
eha fe, 3+ & Kolmogorov-Smirnov 33,
(1) 0.06 (2) 0.12 (3) 0.17 (4) 0.19

22.( 4 ) #HT™5150BRBE B&k# LI Pareto 4 fe (¥ alpha= 1 and theta = 2),
3+ ¥ Chi-Square statistic

A K

Class Range Frequency
1 0 to 3 75

2 3 to7 30

3 T to 10 10

4 10 and above 35

(1) %3 4.0, -} 5.0
(2) +*E3 5.0, -} 6.0
(3) +xE3 6.0, 1 7.0
(4) g3 7.0, -} 8.0



23.(3 ) P gd¥E X2 pdf 3 £(x)=0.005x for 0=x=20> H # F=pl5 0-
Tﬂ&ﬁﬁﬁéi?
(1) Var(X Al0)<3.4
(2) 3.4=<Var(X ~10) <3.45
(3) 3.45<Var(X Al10)<3.5
(4) Var(X Al0)=3.5

24.(3 ) ¥ ® Pareto~fe2 %8s a2 % %2 F4T¥WESE * (infinity): ® %—)5

PV B RRBERLORETARE?
(1) Transformed beta 4 fie

(2) Inverse exponential 4 fe

(3) Exponential 4 fe

(4) Transformed gamma 4 f#ie

20.(1 ) FR%GRBERLSEHENVA-HEAUABZHFEYC B ¥F4%50.2-0.32%2 0.5 &
KPR AL PR Poisson 4 fie > H T 39dkc i 100 & 8 3] 2 P4k # PRI Poisson
APpREARIE R OERAY F 2EAFIANBFIRT
(1) ##F<0.205
(2) 0.205==%<0.21
(3) 0.21=3%#%<0.215
(4) ##F=0.215

26.( 3 ) icANEBRE V2 ¥ Fs8(probability function)*t (g, b, 0)2 + § >
L SR 7| I
(i) Pr(f=0)=Pr(f=1)=0.25
(ii) Pr(f=2)=0.1875
THF M Pr(f=3)2 sk F 5 E 7
(1) Pr(f=3)<0.124
(2) 0.124<Pr(1=3)<0.125
(3) 0.125=<Pr(1=3)<0.126
(4) Pr(X=3)>=0.126



27.( 2 ) © 4 NPRj€ Negative binomial distribution: # %% r=2.52% 8= 0.5"

28. (

REIR N FER .2 IUE S
1) P2<0.13

@ 0.13= P <0.14

(3) 0.14= Pz <0.15

@) P =015

1 ) & 48 » VPR Negative binomial distribution: @ $#r =2.5% =10.5"

TIF M P AP E SR
(1) ps' <0.055

(2) 0.055=< p3' <0. 056

(3) 0.056= ps' <0.057

(4) ps' =0.057

29.( 4 ) % & %- extended zero-truncated negative binomial distribution® & %#

r=-0.52p8=1>3%¢4p/ =0853553 » T} M p; 2t EF 2
(1) p; <0.0255

(2) 0.0255< p; <0. 026

(3) 0.026=< p; <0. 0265

(4 ps =0.0265

30.C 2 ) BRIF AR Pareto A e ¥ $8k =22 £=10002 "7 33 ¥ expected

31L. (

1

cost for a coverage with policy limit of 2000 T 3| MW3%iE2 st e 3
£ 7

(1) #%®E<660

(2) 660=3%%E <670

(3) 670=3%%E <680

(4) #%®E=680

) BKIF 4 PRiE Pareto 4 e ¥ S8 @ =2F £ =1000-% policy limit % 2000 -

el PR G 0% FRT o TR MIPHAEL 2 feif e F 337
7



(1) ##HpRHF4 <1576
(2) 15T6=## ¥ % <1577
(3) 15TT=#HPP I 4 <1578
(4) #HPp 24 =1578

32.C 3 ) F-WMaFHE2FAHFEE - ALpeH T35 300 f-% £ B(variance) 3 800 >
@ Ground-up 2 4f % tFR 4= T £

F AR 5
40 0.25
80 0.25
120 0.25
200 0.25

IR L R AW 4 50% > AIF A S a2 % AT ¥ > per claim
deductible 5 100 33 ¥ i sc R is 2 I RRBALH » 7 5|7 M3z 62 &if
PHERE?

(1) #=%#<22,400

(2) 22,400=3%3%t <22,500

(3) 22,500=3z% <22, 600

4) =% =22,600

33.C 1 ) B&X,X ,.X, EApT 2 ehuniformafe 2 3%&500,0) 3£ B2kt

3+ ¥ (unbiased estimator)+#r— :

0, =27=2X 6, =" Lmag X, X, X }
n

- EiEa B2 G R 2 sk (efficient) » T 51 MraFangkitw F 55 7

A A

(1) 6, is more efficient than 6,.

A A

(2) 0, is more efficient than 6.

(3) = ®*iEEE2 s (efficient)dple o
() iz 2283 B2 ka2 %k (efficient) °

34.( 3 ) LEEBLEA B4
45 107 210 81 153 189

<

BE p=06 - i HTVaR,(X) » T51F Mz it P ¥ 5 5 ?

£l

8



ey,
(2)
(3)
(4)

3% E <181
181=3% & <183
183=3%1E <185
3% E=185

35.( 4 ) AP T EHEZFEAELT

B p=06 » 33 ¥ Var(TVaR (X)) » T 7|} B

(1)
(2)
(3)
(4)

45 107 210 81

3% <465
465 =3% & <467
467=3% £ <469
3% E=469

153 189



